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Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

Dot product of two vectors result in ------------- quantity,

Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
Sealar
. correct
WVectors
-
None of all
-
Magnitude
-
o
YNade by: YWaqar Siddhu




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

Emstein, among other well known names in the world of science, His theory of relatinty mamntains that space and time are merely different aspects of the -------- thing.

Einstein, among other well known names in the world of science, made a special
study of time in relation to his research in physics. His theory of relativity
maintains that space and time are merely different aspects of the same thing.

Answer ( Please select your correct option ) Mnswer&com
Non of the given
~
Unknown
P
Different
-~
Same
-
correct °
YNade by: Yy/aqar Siddhe




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) BI

OpenGL 15 built for compatibility across hardware and operating systems. This architecture makes it easy to port OpenGL programs from one system to another. While each operating system hag ------ =
--- requirements.

OpenGL is built for compatibility across hardware and operating systems. This
architecture makes it easy to port OpenGL programs from one system to another. While

| each operating system has unique requirements, the OpenGL code in many programs can page 303
be used as is. -

Answer ( Please select your correct option ) Mnswer&com

None of the given

e

Compatibility

Same

Unicue

correct mude b”g Wuqur \sidt“w




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

The rate at which light imtensity decreases at a greater distance 15 called ag ----------=-ccmmemmmeeeo

Light in the real world loses its intensity as the inverse square of the distance from the

light source to the surface being illuminated. However, when put into practice, this

seemed to drop off the light intensity in too abrupt a manner and then not to vary too

much after the light was far away. page 290 _

Answer ( Please select your correct option ) Mnswer&com

Lambertian Shading

p

Light Intensity

Light Decrement

Light Attenuation

T YNade by: YYaqar Siddhe




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) Bl

In order to get a more realistic representation of lighting, we'll need to understand how light passes through a medum and how hitting the boundary layer at the ----------------- of two media can affect
light's properties.

| To do this, we'll need to

understand how light passes through a medium and how hitting the boundary layer at the

Intersection of two media can affect light's properties. page 296
Answer ( Please select your correct option ) VﬂﬁnSWETSTCOITI
Intersection
; correct
Union
P
Endpoints
~
Edges
&
]
YNade by: YWaqgar Siddhu




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) BI

What makes this really challenging to model is that the index of refraction for most matenials 15 a function of the-----------ceceeev of the light. This means that not only is there a shift in the angle of =
refraction, but that the shift 15 different for differing --------------- of light.

What makes this really challenging to model is that the index of refraction for most

materials is a function of the wavelength of the light. This means that not only is there a
shift in the angle of refraction, but that the shift is different for differing wavelengths of page 299

wriht x

ferrt YuAnswers.com
Answer ( Please select your correct option ) =

Reflecting angle, Reflecting angle

p

Refracting angle, Refracting angle

Frequency, Frequency

Wavelength, Wavelength

“ Y )ade by: Y9laqar Siddhe




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

Refractive imndex 1s a function of temperature, mostly due to density changes in matenals with changes in temperature.

Refractive index is a function of temperature, mostly due to density changes in materials
with changes in temperature.

page 300
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
True
C correct
False

YNade by: YWaqgar Siddhu




Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

MURBS stands fore-=zm-smmesmmeemmeemn--m _

NURBS (Non Uniform
Rational Beta Splines)

o

page 225

Answer ( Please select your correct option )

p

Non Universal Rational Binary Spline

Non Uniform Rational Binary Splines

Non Uniform Rational Beta Splines

correct

Non Universal Rational Beta Splines

YNade by: YWaqar Siddhu



Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

A space curve 15 not confined to a plane. It 1s free to twist through space. To define a space curve we must use parametric functions that are ---------=---ccceeeuv .

A space curve is not confined to a plane. It is free to twist through space. To define a
space curve we must use parametric functions that are cubic polynomials.

page 331
Answer ( Please select your correct option ) Mnswer&com
Binary polynomials
~
IMono polynomials
o
Quadratic polynomials
P
Cubic polynomials
-
1
corect  (YF)ade by: Yy/aqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) BI

With similar expressions for y(u) and z(u). Again the a, b, ¢ and d terms are constant coefficients. As we did with Equation for a plane curve, we combine the x(u), y(u) , and z(u) expressions into a single —
vector equation Pﬁu)= ---------------------------------------

With similar expressions for y(u) and z(u). Again the a, b, ¢ and d terms are constant
coefficients. As we did with Equation for a plane curve, we combine the x(u), y(u) , and
z(u) expressions into a single vector equation : page 331

o(u) = aud + bu2 + cy +d -
Answer ( Please select your correct option ) Mnswer&com

Aud+buitcuz+dl

p

Au3tbuz+cuz+d

Au3tbuztcutd

correct

Auz+bultcutd

YNade by: YWaqar Siddhu




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

To convert the mnformation in the A matnx mto that required for the P matrix, we do some simple matrix algebra, First we have TTA=UNP then Simply

iR, To convert the information in the A matrix into that required for the P matrix, we do
some simple matrix algebra, using Equations 9, 10 and 13. First we have

GP =UNP (14) pag 333
A=NP .
Answer ( Please select your correct option ) Mnswer&com
None of the given
~
UPp
-
NP
- correct
UN
2 o
YNade by: YW aqar Siddhu




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) BI

~

Bezer curve 1s the 1deal standard for representing the ----------ccmmmmmmmeeeo plecewise polynomial curves.

Bezier curve is the ideal standard for representing the more

complex piecewise polynomial curves. page 238

Answer ( Please select your correct option ) Mnswer&com

None of the given

p

Non complex

Most complex

More complex

correct mude b”: WGC]GI.' Giddhy




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) El

For high-quality images, it's a good 1dea to subdivide more on the silhouette edges than in the mterior. If the surface 1s to be rotated relative to the eye, this 1s tougher to do, since the silhouette edges
keep moving. Sihouette edges occur where the --------------oo oo are perpendicular to the vector from the surface to the wewpoint.

For high-quality images, it's a good idea to subdivide more on the silhouette edges
than in the interior. If the surface is to be rotated relative to the eye, this is tougher
to do, since the silhouette edges keep moving. Silhouette edges occur where the

.
normal vectio are perpengiclHario the vecio oMm-the Sur 2 10 he viewboln

pagw 345

= = “AmA AT am — VA A A
Answer ( Please select your correct option ) - U

None of the given
~

Unit vectors

Tangent vectors

Normal vectors

C correct

YNade by: YWaqar Siddhu




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

A twenty-sided approzimation to a sphere doesn't look good unless the inage of the sphere on the screen 1s quite -----—---mccmmmeeeemo , but there's an easy way to increase the accuracy of the
approximation.

A twenty-sided approximation to a sphere doesn't look good unless the image of the
sphere on the screen is quite small, but there's an easy way to increase the accuracy of the
'I approximation.

Answer ( Please select your correct option ) Mnswer&com

Medum

e

Large

Small
correct

None of the given

YNade by: YWaqar Siddhu




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

A rEeCUrSIVE —-----mmmmmmmmmeeee e technique can be used for other types of surfaces. Typically, the recursion ends either if a certain depth 1s reached or if some condition on the curvature 1s satisfied.

A recursive subdivision technique such as the one described in Example 5 can be used for
other types of surfaces. Typically, the recursion ends either if a certain depth is reached or
If some condition on the curvature is satisfied

Answer ( Please select your correct option ) Mnswer&com

None of the given

e

Addition

Multiplication

Subdivision

i T Yhade by: Yafaqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) BI

According to Webster's Dictionary a fractal 1s defined as being "denved from the Latin word ----------ceeeev meaning broken, various extremely irregular curves or shapes that repeat themselves at any —
scale on which they are examined.”

According to Webster's Dictionary a fractal is defined as being "derived from the Latin
word fractus meaning broken, uneven: any of various extremely irregular curves or

shapes that repeat themselves at any scale on which they are examined." page 352 =
Answer ( Please select your correct option ) Mnswer&com
Fractus
: correct
Frectul
&
Fratus
-
Fractul
& [
YNade by: YW aqar Siddhu




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

The -----mmmmemee - 1s most simple example that exhibits the property self similanty.

The fern is typical of many plants in that it
exhibits self similarity

page 255
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
Mosse
~
Fern
c correct
Thohar
P
None of the given
-
]
YNade by: YWaqar Siddhu




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

The transformation process to produce the desired scene for wewng i1s analogous to taking a photograph with a ------------------ ;

The transformation process to produce the desired scene for viewing is analogous to

taking a photograph with a camera. page 372

Answer ( Please select your correct option ) Mnswer&com

None of the given

e

Rendenng

Transformation

Cammera

i S Y)ade by: Yylaqar Siddhe




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) El

Projection transformations, that construct a 4 x 4 matrix M, which is then multiplied by the coordinates of each vertex v in the scene to accomplish the transformation v'=My, Remember that vertices —
always hawve _------------- coordinates, though ih most cases wis 1 and for two-dimensional data z1s 0.

To specify viewing, modeling, and projection transformations, we construct a4 x 4
matrix M, which is then multiplied by the coordinates of each vertex v in the scene to
accomplish the transformation (Remember that vertices always have four coordinates (x, y, z, w),

L though in most cases w is 1 and for two-dimensional data z is Q) g
- YuAnswers.com

Answer ( Please select your correct option )

One
= page 373
Two
&
Four
C correct
Three
C L)
| YNade by: YW aqar Siddhu




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) BI

The wewing transformation can be specified, the current matrix 15 set to the ------—--ccmememee- matrix with glloadldentity(). This step is necessary since most of the transformation commands multiply =
the current matrix by the specified matrix and then set the result to be the current matrix.

the current matrix is set to the identity matrix with glLoadldentity(). This step is necessary since
most of the transformation commands multiply the current matrix by the specified matrix S 376
and then set the result to be the current matrix. Pag

Answer ( Please select your correct option ) Mnswer&com

Rectangular

e

Square

Identity
correct

Normal

YNade by: YWaqar Siddhu




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

------------------ basic types of projections are provided for us by OpenGL, along with several corresponding commands for describing the relevant parameters in different ways.

Two basic types of projections are provided for us by
OpenGL, along with several corresponding commands for describing the relevant

parameters in different ways. page 376
Answer ( Please select your correct option ) Mnswer&com
Five
-~
Two
‘ correct
Three
~
Four
2 ]
YNade by: YW aqar Siddhu




Question No : 22 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

the light sources.

Rendenng a Lit Sphere having steps required to add lighting to our scene. Define

Rendering a Lit Sphere

vectors for each vertex of all the objects. These vectors determine the orientation of the object relative to

~

These are the steps required to add lighting to our scene. Define NORMAL vectors for
each vertex of all the objects. These NORMALS determine the orientation of the object  page 398

relative to the light sources.

YuAnswers.com

Answer ( Please select your correct option )

p

Unut

Normal

correct

Transformation

None of given

YNade by: YWaqar Siddhu



Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) QI

Tnangle fans, conceptually, look like the folding fans you see i shops. =

Triangle fans, conceptually, look like the folding fans you see in Asian souvenir shops.

Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI

False

True

correct

YNade by: YWaqgar Siddhu




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

Dark lights are nothing more than lights in which one or more of the color values are

Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
Unknown
~
Negative
: correct
Null
-
Posttive
-
o
YNade by: YWaqar Siddhu




Question No : 25 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Which 15 the oldest in given types of the shading?

~

nai pta
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
Flat Shading
~
Phong Shading
-
None of all
-
Gouraud Shading
-
o
YNade by: YWaqar Siddhu



Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

IS used for circumference of a circle.

The perimeter C of a circle is called the circumference, and is given by

C=2Tr page 59
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
2r
~
2T
P
2%
-~
MNone of the given
-
correct °
YNade by: YWaqar Siddhu




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) QI

Both Boundary Filling and Flood filing algonthms are than scan line filing algorithm. =
nai pta
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
None of the given
~
Better
& ya lag rha ha
Worse
P
Almost same
-
1
YNade by: YWaqar Siddhu




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

save a line with both endpoints mside all clipping boundaries 1s called as .
Trivial Accept - save a line with both endpoints inside all clipping boundaries.

page 141
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
None of the given
-~
Total mside
o
Trwial Reject
-~
Trwial Accept
o
]
corect  (YF)ade by: Y/aqar Siddhu




Question No : 29 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Tomography 1s the technique used in

o

Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
H-rays photography
: correct
Pixel paint
o
Entertainment
P
Artis's pamtbrush
-
1
YNade by: Yy/aqar Siddhe



Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

polygons are clipped correctly by Sutherland-Hodgeman Algorithm.

The Sutherland-
Hodgeman clipping algorithm clips any polygon against a convex clip polygon.

2438
Answer ( Please select your correct option ) Mnswer&com
Convex
: correct chek may b all but mention with this only
Concave I
-~
Complex
P
All of the given
& L
YNade by: YW aqar Siddhu




Question No : 31 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

The axonometric projection 1s

The most common axonometric projection is an isometric projection where the
projection plane intersects each coordinate axis in the model coordinate system at an
equal distance or the direction of projection makes equal angles with all of the three
principal axes

where the direction of projection makes same angle with all three axes.

o

page 196

Answer ( Please select your correct option )

YuAnswers.com

p

Oblique projection

Trimetric projection

Diametric projection

Isometric projection

correct

YNade by: YWaqar Siddhu



Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

Texture mapping 1s a technique for interpolating over the tnangle being rastenzed.

Texture mapping is a

technique for interpolating an image over the triangle being rasterized.
page 218

Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI

None of the given

e

Colors in the inage

correct

Shape in tmage

YNade by: YWaqar Siddhu




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) QI

We want our scene to look more realistic, we should use lights. =

Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI

Point

e

Parallel

opot

None of the given

i et (yY)ade by: Yylaqar Siddbe




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

can be defined as a mapping of pomnt P(x, ¥, z) onto its image P (x', ¥, z ) in the wiew plane which constitutes the display

surface.

Projection can be defined as a mapping of point P(x,y,z) onto its image

P (x',y ,z) in the projection plane or view plane, which constitutes the display surface page 262
Answer ( Please select your correct option ) Mnswer&com
MMapping plane
=

Three Coordinate Planes

View plane

Projection

correct mude b”: Wuqur \9id‘“"1




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) BI

The reflected light wave turns out to be af an case since light 1s reflected at the same angle as the mcident wave (when the surface 1s smooth and uniform, as we'll assume for now). =

The reflected light wave turns out to be a simple case

since light is reflected at the same angle as the incident wave (when the surface is smooth
and uniform, as we'll assume for now).

page 296 B
Answer ( Please select your correct option ) =

Unknown
~

Simple
-

correct

Complex
-~

Abnormal
P

1
YNade by: YWaqar Siddhu




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

Computer graphics i1s very helpful in producing graphical representations for scientfic wisualization.

Computer graphics is very helpful in producing graphical representations for scientific

visualization page 9
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
False
-
True
correct
-
o
YNade by: YWaqgar Siddhu




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o

When light strike with the thick colored lacquer surface it perform the following steps.

Consider a thick colored lacquer surface. The lacquer itself is transparent, but suspended
in the lacquer are reflective pigment off of which light gets reflected,

page 241
Answer ( Please select your correct option ) Mnswer&com
reflected
. correct
bounced, altered
o
split, shifted
-~
All of the given
o
]
YNade by: YWaqar Siddhu




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) QI

Spotlights have angles associated with them. =

Spotlights have two angles associated with them.

page 244
Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI
2
. correct
3
-
4
-
5
2 o
YNade by: YW aqar Siddhu




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) QI

o

There are various types of transformations as we have seen, i case of 2D transformations, these mnclude:

repeat

Answer ( Please select your correct option )

Scaling

p

Rotation

Translation

All of the given

i Y)ade by: Yylaqar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) QI

~

When we perform the rotation about Z-axis

x'=xcosd
y'=ysnd
The value of

Answer ( Please select your correct option ) VU#I‘TSWETSTCOITI

sin &

e

tan &

cos &

i i Y)ade by: Yylaqar Siddhe




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)

Computer antmation 15 a form of--------cmmommmcemee -

:Answer ( Please select your correct option ) VUAnswe rS. Com
Colour printer output
~
Video graphics \/
~
CADICAM
~
LCD
) YNade by: Yy/aqar Siddhe



Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)

TV series are made as simply as possible from the antimation pomnt of wew. This approach 1s generally known ag -------==---cmceemeeeo ;

:Answer ( Please select your correct option ) VUAnswe rS. Com

Low animation

F

High resolution

Full animation

Limited animation

) YNade by: Yy/aqar Siddhu




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

OpenGL 15 built for compatibility across hardware and operating systems. This architecture makes it easy to port OpenGL programs from one system to another. While each operating system hag -----.
--- requirements.

:Answer ( Please select your correct option ) VUAnswe rS. Com

Compatibility

F

Same

Tnique
B \/

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

Coordinate systems are the measured frames of reference within which geometry 15 defined, manipulated and wewed.

:Answer ( Please select your correct option ) VUAnswe rS. Com

True

False

YNade by: YY/aqar Siddh




Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min)

glutReshape Window requests a change in the size of the current window. The width and height parameters are size extents in pixels. The width and height must be ---------cmeemv values.

Answer ( Please select your correct option )

VUANSwWers.com

F

Non of the given

Neutral

Negative

Positive

N

YNade by: YYaqar Siddh



Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min)

The glClearColor function specifies the red, green, blue, and alpha values used by glClear to clear the color buffers. Values specified by glClearColor are clamped to the range ------------------ :

Answer ( Please select your correct option )

VUANSwWers.com

F

[0.-1]

[_1’1]

[5.1]

[0.1]

YNade by: YYaqar Siddh



Question No : 7 of 52

Marks: 1 (Budgeted Time 1 Min)

three points.

if we assign a different value to the parametric vanable for the intermediate pomt, then we obtain different values for the coefficients. This, in turn, means that a different curve 1s produced, although it
passes through the

Answer ( Please select your correct option )

VUANSwWers.com

F

None of the given

Isolate

Different

Same

YNade by: YYaqar Siddh



Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min)

WURBS stands fots oo oo _

Answer ( Please select your correct option )

VUANSwWers.com

Non Universal Rational Binary Sphne
~

Non Uniform Rational Binary Splines

Non Uniform Rational Beta Splines

Non Universal Rational Beta Splines

YNade by: YYaqar Siddh



Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

A point 15 defined as [az, ay, az, a]T where "a" can be ANY value.

:Answer ( Please select your correct option ) VUAnswe rS. Com
True
-~
False
-~
YNade by: YYaqar Siddhu




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

An orthogonal set of vectors------------mcomemmeeee-

:Answer ( Please select your correct option ) VUAnswe rS - Com

Must be a set of inearly independent vectors

p

Iust be a set of linearly dependent vectors

Must be made up of the basis vectors (el, e2, and e3)

Can be made up of any set of vectors

) YNade by: Yy/aqar Siddhu




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

Bezer curve 1s the ideal standard for representing the ---------mcommmmmeeee piecewise polynomial curves.

:Answer ( Please select your correct option ) VUAnswe rS. Com

None of the given

F

Non complex

Most complex

More complex

) N YNade by: Yy/aqar Siddhe




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

Keep polygon onentations consistent to make sure that when wewed from the outside, all the polygons on the surface are onented in the same direction.

:Answer ( Please select your correct option ) VUAnswe rS. Com

None of the given

F

Neither

Different

Same

) YNade by: Yy/aqar Siddhu




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)

For high-quality images, it's a good 1dea to subdmvide more on the silhouette edges than i the mtenior. If the surface 1s to be rotated relative to the eye, this 1s tougher to do, since the silhouette edges
keep mowving. Silhouette edges occur where the --------—cmcmmmmmmeeeo are perpendicular to the vector from the surface to the wiewpomt.

:Answer ( Please select your correct option ) VUAnswe rS. Com

None of the given

F

Unit vectors

Tangent vectors

Normal vectors

) YNade by: Yy/aqar Siddhu




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

According to Webster's Dictionary a fractal 1s defined as being "denved from the Latin word --------cmemeeenn meaning broken, various extremely wregular curves or shapes that repeat themselves at an
scale on which they are examined."

:Answer ( Please select your correct option ) VUAnswe rS. Com

Fractus
F

Frectul

Fratus

Fractul

) YNade by: Yy/aqar Siddhu




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

The ------cmmmmmeeme 15 most sinple example that exhibits the property self similanty.

=

Answer ( Please select your correct option ) VUAnswe rS - Com

None of the given

F

Thohar

Mosse

YNade by: YYaqar Siddh



Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min)

The transformation process to produce the desired scene for wewing 15 analogous to taking a photograph with a

Answer ( Please select your correct option )

VUANSwWers.com

F

None of the given

Rendering

Transformation

Camera

YNade by: YYaqar Siddh



Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)

The wewing and modeling transformations are combined to form the ---------cmceeeeev matriz, which 15 applied to the mcoming object coordinates to yield eyve coordmnates.

:Answer ( Please select your correct option ) VUAnswe rS. Com

Two

F

Square

Viewport

Modelwew

) YNade by: Yy/aqar Siddhu




Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min)

basic types of projections are provided for us by OpenGL, along with several corresponding commands for describing the relevant parameters in different ways.

Answer ( Please select your correct option )

VUANSwWers.com

F

Five

Two

Three

Four

YNade by: YYaqar Siddh



Question No : 19 of 52

Marks: 1 (Budgeted Time 1 Min)

At a physical surface, our eye's perception of the colour depends on the distribution of photon energies that armve and trigger our -------------- cells. Those photons come from a light source or
combination of sources, some of which are absorbed and some are reflected by the surface.

Answer ( Please select your correct option )

VUANSwWers.com

F

Lens

Evye

Cone

v

Retina

YNade by: YYaqar Siddh



Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)

In the Phong reflection model, there are 3 constants (a, b, c) which are used to describe the qualities of which of the following phenomena?

PPy — - VUANSwWers.com

The attenuation of a point light source with distance

The size (in each dimension) which the light 15 assumed to have

The amount to perturb reflection vectors as they are mirrored across the normal

The matenal reaction to ambient, diffuse and specular light (respectively)

) YNade by: Yy/aqar Siddhu




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

When obtaining normals for a tnangle, which of the following mathematical constructs 18 NOT used?

:Answer ( Please select your correct option ) VUAnswe rS - Com

Pomnt-Point subtraction

p

WVector normalization

WVector cross products

Vector dot products
p

YNade by: YYaqar Siddh



Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

Dark lights are nothing more than lights m which one or more of the color values are

:Answer ( Please select your correct option ) VUAnswe rS. Com
Unknown
~
- Negative \/
Null
~
Positive
) YNade by: Yy/aqar Siddhe



Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)

The traditional approach i real-time computer graphics has been to calculate lighting at a vertex as a sum of the light.

:Answer ( Please select your correct option ) VUAnswe rS. Com

Diffuse, and specular

F

Ambient

Ambient, diffuse, and specular

Specular

) YNade by: Yy/aqar Siddhu




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)

Unlike ambient light, the mtensity of diffuse light 15 directional and 1s a function of the angle of the mcoming light and the surface. This type of shading 1s called Lambertian shading after Lambert
law.
Answer ( Please select your correct option ) VUAnswe rS_ com
Perpendicular
~
Costne
£ \_/
Sine
~
Tangent
& -]
YNade by: Yy/aqgar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

There are basic types of polygon.
:Answer ( Please select your correct option ) VUAnswe rS_ com
" 2
~
4
~
10
) YNade by: Yy/aqar Siddhe



Question No : 26 of 52

Marks: 1 (Budgeted Time 1 Min)

polygons are basically concave polygons that may have self-intersecting edges.

Answer ( Please select your correct option )

VUANSwWers.com

F

Complex

v’

None of the given

Hybrid

Convex

YNade by: YYaqar Siddh



Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min)

The boundary-fill method requires the coordinates of

Answer ( Please select your correct option )

VUANSwWers.com

F

Starting pomt

Filling colour

Boundary colour

All of the given \/
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Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)

A polygon 1s usually defined by a sequence of vertices and . (Choose best suitable option)

:Answer ( Please select your correct option ) VUAnswe rS. Com

Ending lines

F

Edges
i /

Circles

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

A three-dimensional reflection can be performed relative to a selected reflection

:Answer ( Please select your correct option ) VUAnswe rS. Com

None of the given

~

Plane

Axs

Both Asus and plane

) YNade by: Yy/aqar Siddhu




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

transformation produces shape distortions as if objects were composed of layers that are caused to slide over each other.

:Answer ( Please select your correct option ) VUAnswe rS. Com
Translation
~
Reflection
~
Shear
~
\V'
Rotation
’ YNade by: Yyaqar Siddhu



Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)

The technique has the direction of projection perpendicular to the wiewing plane, but the wewing direction 18 NOT perpendicular to one of the principle faces.

:Answer ( Please select your correct option ) VUAnswe rS. Com

Oblique Parallel Projection

F

Axonometric Parallel Projection

Orthographic Parallel Projection

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

We want our scene to look more realistic, we should use lights.

:Answer ( Please select your correct option ) VUAnswe rS - Com

Pomt

p

Parallel

Spot

None of the given

YNade by: YYaqar Siddh



Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)

Lambertian shading was used mostly back when computers weren't fast enough to do in real time.

:Answer ( Please select your correct option ) VUAnswe rS. Com

Gouraud shading \/
~

shading i which triangles painted with single solid color

Processing

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

In case of , we'll get dull and diffused wew.
p 294
Answer ( Please select your correct option ) VUAnswe rS % com
Backscattering
~

Forward scattering

Both Backscattenng and Forward scattering
A~

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min)

The reflected light wave turns outto be a/f an case since light is reflected at the same angle as the mcident wave (when the surface 1s smooth and uniform, as we'll assume for now).

:Answer ( Please select your correct option ) VUAnswe rS. Com

Unknown

~

Simple
5 \/

Complex

Abnormal

) YNade by: Yy/aqar Siddhu




Question No : 36 of 52

Marks: 1 (Budgeted Time 1 Min)

A line may have three forms with respectto it’s

Answer ( Please select your correct option )

VUANSwWers.com

Slop
~

Plan

Points

None of the given
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Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

It the value of scaling factors Sx and Sy 15 greater than 1, then size of objects will be

Ingelect your correct option ) VUAnSWG rS - Com

Reduced

Enlarged

Eemain same

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

We maintamn the saturation of color values by using

:Answer ( Please select your correct option ) VUAnswe rS. Com
Clamping
~
Scaling
~
Shifting
~
all of the given
“ N Yade by: Yy/aqar Siddhe



Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min)

There are various types of transformations as we have seen, in case of 2D transformations, these mclude:

Answer ( Please select your correct option )

VUANSwWers.com

F

Scaling

Rotation

Translation

All of the given

YNade by: YYaqar Siddh



Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

In 24-bit display mumber of different colors can be displayed.

\ase select your correct option ) VUAnSWG rS - Com

2567

256°

256°

) YNade by: Yy/aqar Siddhu




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)

Each hyperbola consists of two ------ommmmmmmmemeemee

:Answer ( Please select your correct option ) V UAnSWG rS . COm

Vertices

Nodes

=~

YNade by: Yy aqar Siddhu




Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min)

Computer antmation 15 a form of--------m-ccemmcemeee-

Answer ( Please select your correct option )

VUANSwWers.com

p

Colour printer output

Video graphics

\_—

CADICAM

LCD

YNade by: YYaqar Siddh



Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

An independent consortium, the OpenGL Architecture Rewview Board, guides the OpenGL specification. With broad mdustry support, OpenGL 1s the only truly open, vendor-neutral, -----------
graphics standard.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Tertiary

p

Binary

single platform

Multiplatform
~

YNade by: YYaqar Siddh



Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

All OpenGL applications produce consistent visual display results on any OpenGL API-compliant hardware, ---------- of operating system or windowing system.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Regardless
@ /

With respect

Kermel

Libraries

) YNade by: Yy/aqar Siddhu




Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min)

In order to get a more realistic representation of ighting, we'll need to understand how light passes through a medium and how hitting the boundary layer at the ----------------- of two media can affect
light's properties.

Answer ( Please select your correct option )

VUANSwWers.com

p

Intersection \/

Union

Endpoints

Edges

YNade by: YYaqar Siddh



Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min)

Using a lighting model based upon the Blinn Phong model means that we'll always get a uniform specular highlight based upon the colour of the --------------- light and matenal, which means that all
reflections based on this model, will be reminiscent of plastic.

Answer ( Please select your correct option )

VUANSwWers.com

p

Union

Refracting

Intersection

Reflecting

YNade by: YYaqar Siddh



Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)

The value returned 15 a unique small mteger identifier for the window. The range of allocated identifiers starts at ---------=---=--oouv . This window 1dentifier can be used when calling glutSetWindow.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Three

p

Two

One
-
ZEero

) YNade by: Yy/aqar Siddhu




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)

sets the global 1dle call back to be 'func' so a GLUT program can perform background processing tasks or continuous animation when window system events are not being recetved.

:Answer ( Please select your correct opjé V UKnSWG rS. COm

glutldleFunc

glutMainLoop

glutDisplayFunc

glutReshapeFunc

) YNade by: Yy/aqar Siddhu




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

A space curve 1s not confined to a plane. It 1s free to twist through space. To define a space curve we must use parametric functions that are ---------------ceeueev .

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Binary polynomials

p

Mono polynomials

Quadratic polynormials

Cubic polynomials
- \/

YNade by: YYaqar Siddh



Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

A point 1s defined as [ax, ay, az, a]T where "a" can be ANY value.

:Answer ( Please select your correct option ) U UKnSWG rS. COm

True

False

YNade by: YYaqar Siddhu




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

Given the vector [1, 2, 3, 0]T and the point [3, 2, 1, 1]T, the equation for the plane defined by them s

:Answer ( Please select your correct option ) U UKnSWG rS. COm

Ix+2y+3z+10=0

F

3x+2y+1z+10=0

Ix+2y+3z—-10=0

3x+2y+1z-10=0

i YNade by: Yy/aqar Siddhu




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following affine transforms does NOT affect vectors?

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Shear

p

Rotation

Scale
~

YNade by: YYaqar Siddh



Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)

Bezer curve 1s the ideal standard for representing the -----------cemcmmmmcemeeo plecewise polynomial curves.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

None of the given

p

Non complex

Most complex

More complex
& \_/

YNade by: YYaqar Siddh



Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

Keep polygon ontentations consistent to make sure that when wewed from the outside, all the polygons on the surface are onented i the same direction.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Neither

p

Different

Same

None of the given
~ \/

YNade by: YYaqar Siddh



Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min)

Unless the surface 1s to be drawn only once, you should probably save the calculated vertex and normal coordmnates so that the calculations don't need to be repeated each time that the ----------———---
- 15 drawn.

Answer ( Please select your correct option )

VUANSwWers.com

p

Rectangle

Polygon

Surface

<

Trangle

YNade by: YYaqar Siddh



Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min)

A recursive

technique can be used for other types of surfaces. Typically, the recursion ends either if a certain depth 1s reached or if some condition on the curvature 15 satisfied.

Answer ( Please select your correct option )

VUANSwWers.com

p

None of the given

Addition

Multiplication

Subdivision

YNade by: YYaqar Siddh



Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)

Fractal are geometric patterns that 1s repeated at ever smaller scales to produce ------------oou-- shapes and surfaces that can not be represented by classical geometry.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

- Regular
o ol YNade by: Yy/aqar Siddhe



Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)

According to Webster's Dictionary a fractal 1s defined as being "denved from the Latin word —--------ccmeeemv meaning broken, various extremely wregular curves or shapes that repeat themselves at an
scale on which they are examined.”

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Fractus
(‘ \_/

Frectul

Fratus

Fractul

) YNade by: Yy/aqar Siddhu




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

A correspondence must be established between the transformed coordinates and screen —--------cmmmmmmomeeeee . This 15 known as a wiewport transformation.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Edges

p

Vertices

Coordmates

Pixels
~

YNade by: YYaqar Siddh



Question No : 20 of 52

Marks: 1 (Budgeted Time 1 Min)

The transformation process to produce the desired scene for mewing 15 analogous to taking a photograph with a

Answer ( Please select your correct option )

VUANSwWers.com

p

None of the given

Rendering

Transformation

Camera

YNade by: YYaqar Siddh



Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

OpenGL applies the projection matrix to yeld ------ coordmates. This transformation defines a wewing volume.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Three

p

Four

Clip

Normal

) YNade by: Yy/aqar Siddhu




Question No : 22 of 52

Marks: 1 (Budgeted Time 1 Min)

basic types of projections are provided for us by OpenGL, along with several corresponding commands for describing the relevant parameters in different ways.

Answer ( Please select your correct option )

VUANSwWers.com

p

Five

Two

\/

Three

Four

YNade by: YYaqar Siddh



Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following describes the purpose of the = (epsilon) portion of the rendering equation?

:Answer ( Please select your correct option ) U UKnSWG rS. COm

Emutted light from p’ towards p

F

Intensity of light from p” to p

Geometry function (0 f p” not wsible from p, 1/+2 otherwise)

Reflection of light from p” across p” to p

i YNade by: Yy/aqar Siddhu




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)

S—

In the Phong reflection model, there are 3 constants (a, b, ¢) which are used to describe the qualities of which of the following phenomena?

VUANSwWers.com

Please select your correct option )

The attenuation of a point light source with distance

The size (in each dimension) which the light 1s assumed to have

The amount to perturb reflection vectors as they are mirrored across the normal

The material reaction to ambient, diffuse and specular light (respectively)

) YNade by: Yy/aqar Siddhu




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

Plasma-panel Displays use a gas mixture and phosphorus coating for showing display.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

False

True

YNade by: YY/aqar Siddhu




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)

A straight line can be moved to another location by applying to each of the line endpomts and redrawing the line between the new coordinates.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Rotation

p

Translation

Reflection

Scaling factor

) YNade by: Yy/aqar Siddhu




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min)

Because clipping agamst one edge 1s independent of all others so it 15 inpossible to arrange the clipping stages in a pipeline.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

True

False

YNade by: YY/aqar Siddhu




Question No : 28 of 52

Marks: 1 (Budgeted Time 1 Min)

Tomography 1s the technique used in

Answer ( Please select your correct option )

VUANSwWers.com

¥ -rays photography
~

Pixel paint

Entertainment

Artis's paintbrush

YNade by: YYaqar Siddh



Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

In algorithm, old color must be read before it is invoked.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Scan line filling

p

Flood fill
~

Both scan line and flood fill

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

—

In Triwial acceptancefreject test there are four bits of nine regions, Bit3 represents condition

:Answer ( Please select your correct option ) V UKnSWG rS . COm

QOutside half plane of left edge, to the left of left edge X < Xmin

F

utside half plane of nght edge, to the nght of nght edge X = Xmax p 143

Outside half plane of bottom edge, below bottom edge ¥ < Ymin

Outside half plane of top edge, above top edge ¥ > Yiax

) YNade by: Yy/aqar Siddhu




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)

The dot product of two vectors A and B is ,Iff the angle between them is less than 90 or greater than 270 degrees.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Greater than zero (0)

p

Less than zero (0)

Equal to Zero {0)

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

S—

We want our scene to look more realistic, we should use lights.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Poimnt

p

Parallel

Spot
C

‘ YNade by: Yy/aqar Siddhe



Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Min)

Lambertian shading was used mostly back when computers weren't fast enough to do

in real time.

Answer ( Please select your correct option )

VUANSwWers.com

p

Gouraud shading M

shading m which tnangles pamnted with single solid color

Processing

None of the given
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Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

Because clipping against edge / edges 1s ndependent of all others, it 1s possible to arrange the clipping stages in a pipeline.

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Four

p

One
~

Two

Three

) YNade by: Yy/aqar Siddhu




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min)

—

In case of , we'll get dull and diffused wew.

énmer ( Please select your correct option ) V UKnSWG rS . COm

Backscattering

p

Forward scattering

Both Backscattering and Forward scattering

None of the given

) YNade by: Yy/aqar Siddhu




Question No : 36 of 52

Marks: 1 (Budgeted Time 1 Min)

A line may have three forms with respect to it’s

Answer ( Please select your correct option )

VUANSwWers.com

slop
~

Plan

Points

None of the given

YNade by: YYaqar Siddh



Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min)

We can draw the circle using

Answer ( Please select your correct option )

VUANSwWers.com

p

Pentane

Hexanes

Trident

Octants

YNade by: YYaqar Siddh



Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

We maintamn the saturation of color values by using

:Answer ( Please select your correct option ) V UKnSWG rS - COm

Clamping

p

Scaling

Shifting

all of the given
c \/

YNade by: YYaqar Siddh



Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min)

There are various types of transformations as we have seen, in case of 2D transformations, these mclude:

Answer ( Please select your correct option )

VUANSwWers.com

p

Scaling

Rotation

Translation

All of the given

YNade by: YYaqar Siddh



Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

When we perform the rotation about Z-axis

x'=xcosd
y'=ysné
The value of

:Answer ( Please select your correct option ) V UKnSWG rS - COm

sin &

p

tan &

cos &

YNade by: YYaqar Siddh



Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

x'=xcosd
y'=ysnd
The walue of
z'=

VUANSwWers.com

Answer ( Please select your correct option )

sin &
p

tan &

cos &

YNade by: YYaqar Siddh
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